\/

: :SBUNBRITE

SB-DP46XA
Outdoor Deck Planter Pole

Install Guide



Warnings

TV must be installed at least 5 feet away from water’s edge.

Warning: Do not mount a TV that weighs over 250 Ib.

Disclaimer

SunBriteTV LLC intends to make this manual accurate and complete. However, we make no claim that
the information contained herein covers all details, conditions or variations, nor does it provide for
every possible contingency in connection with the installation or use of this product. The information
contained in this document is subject to change without notice or obligation of any kind. SunBriteTV

makes no representation of warranty, expressed or implied regarding the information contained herein.

SunBriteTV assumes no responsibility for accuracy, completeness or sufficiency of the information
contained in this document.

Contents

Deck Planter Pole (A)
Mounting Bar (B) x 2

Bag 1 (for attaching a horizontal mounting bar) Bag 3 (for mounting an accessory)

ltem Image Qty ltem Image Qty

M10 Lock Nuts (C) 5 M10 Unistrut Nuts (1) 5

M10 x 25 Bolts (D) 5 M10 x 30 Bolts (.J) 5

M10 Washers (E) 5 M10 Washers (K) 5
Bag 2 (for mounting an accessory) Bag 4 (finishing touches)

ltem Image ltem Image

Pole Cover (M) _ ' 1

M8 Unistrut Nuts (F) 5 Cable Hole Cap (L)
Hardware Box (finishing touches)
M8 x 30 Bolts (G) 5
Item Image Qty
M8 Washers (H) 5

2 S “SUNBRITE



TV Placement Guidelines

SunBriteTV™ LCD televisions are twice as
bright as most indoor LCD TVs. The sun,
however, delivers more than 30 times the
brightness of our TVs. Therefore, do not
place the TV where the screen faces direct
sunlight; this will cause the image on the
screen to wash out.

Intense direct sunlight falling on the
screen over an extended period of time
may cause dark spots to form on the
image. This is a characteristic of LCD TV
technology, and is a temporary condition
that will go away after the screen is
pointed away from the sun.

Ideal placement is in an area where the TV is shaded by trees, landscape and/or structures, or under
a patio cover or gazebo. Choose an area that is away from standing water and sprinklers (Irrigation
water may contain minerals that can damage the finish on the pole and TV.).

We recommend mounting the TV on a SunBrite brand articulating, tilt-and-swivel mount so the screen
can be turned away from the location of the sun. The articulating wall mount also allows you to position
the TV away from any highly reflective surfaces, such as water, white walls, concrete, etc.

We also recommend using the SunBriteTV dust cover when the TV is not in use, especially if the sun is
shining on the TV during the day.

Bring the appropriate signal cables to the location (CATV, Video, Audio, etc.).

If using the Pole in a planter, create an appropriately sized concrete pier with a level top surface at least
three inches above the grade.

If using the Pole on a deck, chose a flat, level, shaded area away from sprinklers and standing water

Installation

Install Deck Planter Pole

Concrete anchors not provided; we recommend
outdoor-rated 5/16" x 2 1/2" wedge or sleeve anchors.

Orient the pole so that the flat side of the wall plate
faces the seating area. Use the bottom of the pole as a
template to mark the locations where you must drill.

Drill eight holes into the concrete using a 5/16" masonry
bit. Insert anchors, per their instructions.

Remove anchor washers and nuts. Align the pole mount
over the anchors. Loosely replace the washers and nuts.

Shim the pole so it is level and plumb. Secure the pole
by tightening the anchor nuts.

S “SUNBRITE 3



Attach the Horizontal Mounting Bars

This pole mount works with select SunBrite Outdoor Wall

Mounts. On each side of the top of the deck planter

pole are eleven holes. See the product page (snapav.

com/shop/en/snapav/sb-dp46xa-bl) or visit the Tech A
Community (https:/tech.control4.com) for a compatibility O/
guide to determine which holes your wall mount requires.

Center one horizontal mounting bar (B) on the upper pair
of desired holes, with the flat side of the bar against the £ D
pole mount (A). Insert a 1" bolt (D) through a 3/8" washer

(E) and then through the mounting bar and hole from the l l
front, and secure it with a 3/8" lock nut (C) on the back

side of the pole mount (A).

Repeat these steps to secure the other side of the l ...................
horizontal mounting bar (8). 7 et

Center the other horizontal mounting bar on the lower holes
as desired, with the flat side of the bar against the pole.
Secure it with bolts, washers, and nuts as described above. B

Install Pole Cover

Orient the pole cover (M) so that the metal strips are sitting on the top of the pole. Press down on the
plastic cover until it is fully seated into the pole.

Attach TV to Wall Mount

For complete instructions of how to attach the TV to the Wall Mount, refer to the installation instructions
packaged with that wall mount.

Thread Cables

Thread the cables through the cable hole on the front of the pole mount, and exit the cables through
one or both of the cable holes on the rear of the pole.

Insert a cable hole cap (L) to seal any unused cable holes.

Mount TV

Attach the wall mount to the horizontal mounting bars using the appropriate Unistrut nuts (F or 1),
washers (H or K), and bolts (G or J) detailed in the included cutsheet.

Technical Support

For chat and telephone, visit https:/tech.control4.com/s/contactsupport « Email: TechSupport@SnapOne.com

Visit tech.control4.com/technician for discussions, instructional videos, news, and more.

Warranty and Legal Notices

Find details of the product’s Limited Warranty and other resources such as regulatory notices and patent and safety information,
at snapone.com/legal or request a paper copy from Customer Service at 866.424.4489.

Copyright ©2022, Snap One, LLC. All rights reserved. Snap One and its respective logos are registered trademarks or
trademarks of Snap One, LLC, in the United States and/or other countries. Control4, SunBriteDS, and SunBriteTV are also
registered trademarks or frademarks of Snap One, LLC. Other names and brands may be claimed as the property of their
respective owners. Snap One makes no claim that the information contained herein covers all installation scenarios and contin-
gencies, or product use risks. Information within this specification subject to change without notice.

221014-0830
Part # 200-00770-B

\\)

SSUNBRITE

XU

4


https://tech.control4.com/s/contactsupport
mailto:TechSupport@SnapOne.com
http://tech.control4.com/technician
http://snapone.com/legal
https://www.snapav.com/shop/en/snapav/sb-dp46xa-bl
https://www.snapav.com/shop/en/snapav/sb-dp46xa-bl
https://tech.control4.com
https://tech.control4.com

